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QUESTION 1

An architect plans to purpose two Aruba Mobility Controllers (MCs) in a cluster. The customer has a large building that
needs to support about 10,000 devices. The architect plans to associate the Employees WLAN with VLAN ID 10. 

What is one Aruba best practice for this design? 

A. Ensure that VLAN 10 is extended to the edge and Aruba APs are deployed on it. 

B. Ensure that each user role on the MCs is associated with a different VLAN ID. 

C. Ensure that the RADIUS server assigns users to different VLANs dynamically. 

D. Ensure that optimization and suppression of unnecessary multicast is enabled. 

Correct Answer: C 

 

QUESTION 2

An architect proposes four 7210 Mobility Controllers (MCs) to support about 1,500 client APs. The customer
environment will have a maximum of about 20,000 wireless clients. The customer wants hardware MMs with an active
and standby deployment. 

What is the minimum solution that meets the customer requirements? 

A. two MM-HW-10K appliances 

B. two MM-HW-5K appliances 

C. four MM HW-5K appliances 

D. four MM HW-10K appliances 

Correct Answer: B 

 

QUESTION 3

An architect needs to plan 802.11ac wireless deployment for an office environment with a mix of closed offices and
cubicles. The coverage area is approximately 4,645 square meters (approximately 50,000 square feet) and has 350
users. The employees use the wireless network for typical office applications, such as email, Web, printing, and
accessing shared files and datacenter services. 

The architect plans to do a predictive site survey and use VisualRF to plan the coverage. 

What is a general estimate for the AP count that the architect should have in mind? 

A. 5-10 

B. 10-15 

C. 20-25 
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D. 40-45 

Correct Answer: D 

 

QUESTION 4

An RF plan specifies wide sector directional antennas. 

Refer to the antenna specifications. 

H-plane refers to the Azimuth or Horizontal plane and E-plane refers to Elevation or Vertical plane. 

Antenna 1: H-plane = 360; E-plane = 120 

Antenna 2: H-plane = 360; E-plane = 60 

Antenna 3: H-plane = 100; E-plane = 90 

Antenna 4: H-plane = 60; E-plane = 60 

Which antenna specifications indicate that the antenna is a good choice for the plan? 

A. Antenna 1 

B. Antenna 2 

C. Antenna 3 

D. Antenna 4 

Correct Answer: B 

 

QUESTION 5

The customer has an office environment with users who have laptops that can connect with wired or wireless. Users
also bring one or two of their own devices. An architect creates a proposal with Aruba AP325s, 7210 Mobility Controllers
(MCs), a Mobility Master (MM), and Aruba 2930M switches at the access layer to support the laptops and APs. 

The architect plans to recommend 802.1X authentication without tunneled node on Aruba 2930M switch ports that
connect to laptops. 

What is one advantage of this form of authentication? 

A. ensures that Aruba firewall policies apply to wired user traffic. 

B. prevents users from connection attempts with more than three devices 

C. enables user access control and ensures only authorized users connect. 

D. provides a second layer of protection for wireless users at the internal perimeter 

Correct Answer: C 
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